NEWGEN SEARCH OLYMPIAD TALENT TEST

NEWGEN SCHOLARS - THE SCIENCE OLYMPIAD

Class: 8
Name: ... s Time:90mins
1. Choose the correct answers : MATHEMATICS
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(A) Dependent
Areaof rectangleis........
(A) 1+b
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(64)°°=.....
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(A)3

TheC.l. (compound Interest)on Rs. 5000 at therate of 8% for 2 yearsis....

(A) Rs. 832
2n=2 then 2ve=......

(A) 23

(A)2:3

At 12% ratefor 3 years how much amount will becomeRs. 4590 ?

(A) 3375 Rupees

Which of thefollowing are central tendency measure ?

(A)AM,

If nisodd then median=......
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(A) >

Maximum vaue- minimumvaue=......

(A) Range
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(B) 2(1+b) (©) I7p? (D)Ib
1

(B)10 ©15 (D)-3

Profi
B g X100 (0) ot (D) None

1 1 1
B) 6096 © 3096 (B) 4096

1

(B)-8 ©8 (D)5
®)xty ©xy o),
(B)2 ©0 (D) 1
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(B)19 (C) 10 (D) 16

PTR ‘100 P
®) 100 © PTR (D) 100T
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(B) 2375 Rupees (C) 1475Rupees (D) 1290Rupees
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Mean of x, S ism then the mean of x3, Pl is

(A) m(4m?-c)

(B) me+3

Midvaueof class 60-100is.....

(A) 120
Rotationisa.........
(A) Expresson

(B) 100

(B) Change

Number of linesof symmetry for letter Wiis.....

(A)9 (B)1
Perimeter of semicircleis....
(A) pr?

Centrd angleof circleis.........

(A) 160

3X2Y X AXY?X TX3y3 = ...
(A) 84xcys
Inverseratioof 5:6is.......
(A) 1.5
X:6::5:3thenx=.......
(A)9

OX?-y?=.......
A) (3x+y) (3%-y)

(©) (3x-y) (3x-3)
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Euler’s formula for polyhedra
(A)ExF=V +2

(x+8)>"x 24 |+64
(A) 6x

T.S.A. of acubeis
(A) 42

lcu.cm. =
(A) 10mm?

Vol ﬂr)ne of acuboid (V) =.......

A)F

€) 3

(B) 300

(B) 48y°
(B)6:5

(B) 3

(B) 1331

©f:

(B) E+V=F+2 (C

(B) 4x

(B)l.b.h,

(C) Definite
(D)2

(Cp +r
(C) 360°
(C) 41yx®
(C)5:6

(C) 19

(B) (3x-1) (3x-y)
(D) None

(C) 1441

©) [sx-1)

E+X+2=F+V

(C) 16x

(C) 2(Ib+ bh+hl)

(C)1000mm?3

©) &

( )E+2=F+V

(D)3m

(D) 80

(D) Square

(D)pr

(D) 180°
(D) 40x5ys
(D) 6:1

(D) 10

(D) 1113

(D) None

(D) None
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Diagonal of acubeis...........

(A)av3 ® (©a © 7=
a3 a NE
Theprimefactorisationof 72is.......
(A) 23x 32 (B) 3*x 2 (C) 3x& (D) 8x 162
812 -3F=.........
(A)81 (B) 16 (©o0 (D)19
Areaof Rhombusis.......
1 dd 1.d
(A) 5 dld2 (B) % © E dl ?2 (D) d12d22
1 hectare=........ m?
(A) 10,000 (B)2,000 (C) 3,000 (D) 1,000
How many cube numbers are there between 1 to 100.
(A)9 (B) 10 (©)6 (D) 03
364 =
(A)9 (B) 116 (C) 10 (D) 4
14
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GENERAL SCIENCE
Let theforcesF and F, act onthetablein oppositedirectionsF > F, the
F =
A F,-F, B)F, +F, )0 D) 2F, - F,
Findthenet force. 8N " 12N
= =
10N
A) 6N B)30N C)10N D) 14N
Erasing ablack board with duster isrelated to
A) Push B) Rull C) Push & Pull D) Pressure
Frictionisindependent of
A) Pressure B) Direction of motion
C) Areaof contact D) Roughness
Which of thefollowingfriction hasself adjusting force
A) Sidingfriction B) Staticfriction C) Rallingfriction D) Ruidfriction
Whichof thefollowingiscaled asfakefur
A) Nylon B) Rayon C) Xcrylic D) Polyester
Whoisthecresator of plastic
A) Alexander parkes B) Alexander fleming
C) Herman standinger D) Noneof these
Labelson clothesare used because
A) Required by law B) Toidentify fabric content
C)Botha& b C) They donot decompose
Rayonisprepared by

A) Coa B) Oxygen 4 C)Fibre D) Cdlulose
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Maxmimummetasareobtainedin___ state

A)Liquid B) Solid C) Gaeous D) Plasma
Suphur dioxideisa____

A)Basicoxide B)Acidicoxide C) Neutral oxide D) Dud neutral oxide
Somemetalsreactswithacidstoevolve ~  gas

A) Hydrogen B) Oxygen C) Carbondioxide D) Nitrogen
TheOra window hasthesurfaceare __ of theeardum

A) 1/10 B) 2/10 C) 2/20 D) 1/20
Theshrilnessof asoundisknown as

A) Ritch B) Vibration C) Intensity D) Decibel
Thenumber of vibrations produced per second isknown as

A) Freequency B) Shrilness C) vibraionlimit D) Decibds
Angleof incidence=Angleof reflection. Thisruleisexplained by

A) Fermet B) Newton C) Archemedes D) Pascal
Which of the following letter doesn’t suffer lateral inuersion

A)C B) O C)B D)N

Which law statesthat light choosesthe shortest path

A) Fermat B) Neurton C) Archemedies D) Sndl

Which of thefollowingislesspolluting fue

A) Naturd gas B) Cod gas C) Kerosene D) Petrol
Which of thefollowingiscaledliquid gold

A) Cod B) Petroleum C) Charcoadl D) Natura gas
Theunitsof calorificvadueis

A) Newton/grams B) Newtorn/kg C) Kilojoulgkg D) Kilojouls/gram
Inwhich zonethe candleflame, vaporized wax burnscompl etly.

A) Outermostzone  B) Middlezone C) Darkzone D) Bluezone
Electro platingispossiblethough

A) Electrolysis B) Chemicd proces  C) Disolving D) Filtration
Purewaterisa

A) Electri conductur ~ B) Semi condectur  C) Insulator D) Resistor
Oneof thefollowingisnot anelectrolyte

A) Sulphuricacid B) Lemonjuice C) Tamarindjuice D) Detergent solution
Theinstrument used to measuretheintendity of earthquake

A) Sesmograph B) Sesimoscope C) Gold |eaf electroscope

D) Lightening conducturs.

Which arecdled static charges

A)Electriccharges B) Magnetic charges C) Lonic charges D) Noneof these
Moonis toearth

A) Naturd satdlite B)Artificid satdlite C) Comet D)Astroid
____wasthefirgt Indian artifical satelite

A) Insat B) Kalpana| C) Aryabatta D) Edust
Thedistancefromtheearthtomoonis

A) 3,84,399 km B) 3,64,399 km C) 3,84,299 km D) 3,64,299 km
Thisisthestudy of living organism

A) Botany B) Biology C) Zoology D) Anatomy
Which part of thecell containscell organdlls

A) Nucleoplasm B) Cytoplasm C) Cell membrane D) Cdl wdll
One of them isacommon vector

A) Housefly B) Botherfly C) Mosquito D) Worms
Oneof thefollowingisachromic disease

A) Elephantiasis B) Common cold5 C) Diarrhoea D) Pneumonia
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Thewater suitablefor drinkingiscalled

A) Soft water B) Hard water C) Potablewater D) Green water
Decay of organic matter lying under water rel eases

A) Methane B) Ammonia C) Carbonmonoxide D)Argon

We get maximum milk productionfrom

A) Cows B) Boyyaoes C) Camd D)Argon
Agar-agar isobtained from

A) Prawns B) Fishes C) Lobustres D) Seaweeds
Long term cropsrequireminimum of

A) 120 days B) 100 days C) 180 days D) 150 days
Whichtype of crop requiresmoll water

A) Wheat B) Paddy C) Cotton D) Groundnet
Oneof themisabiotic component of ecosgustem

A)Algee B) Fungi C) Sunlight D) None of theabove
How many treesare needed to prepare oneton of paper

A) 17 B) 20 C) 10 D) 15

Oneof thefollowing isaEndemic-species

A)Lion B) Tiger C) Kiwi D) Elephant
Which periodiscaled Adolescence

A) 15-21 B) 16-23 C) 13-19 D) 14-20
Oneof thefollowingisaJunk food

A) Rote B) Chips C) Biscuits D) Milk
Fusion of ovumand spermiscalled

A) Copulation B) Budding C) Gemmule D) Fetilization
Pasteurisationisaprocess

A) To presencefish B) To presencefruits

C) topresence milk D) To presenceAlcohol

Typeof micro organismsal responsibleindigestion

A)Algee B) Fungi C) Bacteria D) Virus
Microbiology wasburnintheyear

A) 1674 B) 1764 C) 1680 D) 1690
Oneof themisadecomposer

A) Euglena B) Bacteria C) Virus D) Fungi



